Our demand:
[image: image1.bmp]
//Open mic2L to left  and MIC2R to right adc :

//power down DAC and mute spk
aic3104_register_write(7, 0x00);

aic3104_register_write(37, 0x00);

aic3104_register_write(82, 0x00);

aic3104_register_write(86, 0x02);

//Open mic2 path

aic3104_register_write(17, 0x0F);

aic3104_register_write(18, 0xF0);

//power up LADC RADC
aic3104_register_write(19, 0x7C);

aic3104_register_write(22, 0x7C);
we are applying two  different single-ended input signals on the same terminal ,the  input signal to MIC2L->L PGA ->L ADC -> DOUTL and the other input signal to MIC2R->R PGA ->R ADC -> DOUTR. Power up LADC and Power up RADC. the test DSP can receive DOUTL data without receive DOUTR.

The receive DOUTR data is zero.
[image: image2.bmp]
Open mic2L to left adc

aic3104_register_write(7, 0x00);

aic3104_register_write(37, 0x00);

aic3104_register_write(82, 0x00);

aic3104_register_write(86, 0x02);

aic3104_register_write(18, 0xFF);

aic3104_register_write(22, 0x78);
aic3104_register_write(17, 0x0F);

aic3104_register_write(19, 0x7C);

we are applying two  different single-ended input signals on the same terminal ,the  input signal to MIC2L->L PGA ->L ADC -> DOUTL and the other input signal to MIC2R->R PGA ->R ADC -> DOUTR. Power up LADC and Power down RADC. the test DSP can receive DOUTL data. This is ok.
[image: image3.bmp]
Open mic2R to right adc

aic3104_register_write(7, 0x00);

aic3104_register_write(37, 0x00);

aic3104_register_write(82, 0x00);

aic3104_register_write(86, 0x02);

aic3104_register_write(17, 0xFF);

aic3104_register_write(19, 0x78);
aic3104_register_write(18, 0xF0);

aic3104_register_write(22, 0x7C);
we are applying two  different single-ended input signals on the same terminal ,the  input signal to MIC2L->L PGA ->L ADC -> DOUTL and the other input signal to MIC2R->R PGA ->R ADC -> DOUTR. Power down LADC and Power up RADC. the test DSP can not receive DOUTL data. The receive DOUTR data is zero.

config  init code
aic3104_register_write(101, 0x00);
///  CODEC_CLKIN uses PLLDIV_OUT

//MCLK 18.432MHZ

aic3104_register_write(3, 0x93);
//// PLL enable, PLL Q value: 2
,PLL P value: 3



aic3104_register_write(4, (0x04<<2) & 0xfc);
//// PLL J value: 4


aic3104_register_write(5, ((0 << 2)>>8) & 0xff);
/// PLL D value: (0  *4) /  256


aic3104_register_write(6, (0 << 2) & 0xff);

//// PLL D value: (0  *4) %  256


aic3104_register_write(11, 0x04);
//// PLL R value: 4


aic3104_register_write(8,0xD0);




aic3104_register_write(9,0x77);

//// DSP mode


aic3104_register_write(2, 0xAA);
//// ADC and DAC fs, delate this for 48K, use this for 8K


aic3104_register_write(17, 0xFF);


aic3104_register_write(18, 0xFF);


aic3104_register_write(19, 0x78);


aic3104_register_write(21, 0x78);


aic3104_register_write(22, 0x78);


aic3104_register_write(24, 0x78);


aic3104_register_write(26, 0x00);


aic3104_register_write(28, 0x00);


aic3104_register_write(29, 0x00);


aic3104_register_write(31, 0x00);


aic3104_register_write(32, 0x00);


aic3104_register_write(33, 0x00);


aic3104_register_write(15, 0x00);



aic3104_register_write(16, 0x00);

//
aic3104_register_write(25, 0x80);   


aic3104_register_write(7, 0x0C);



aic3104_register_write(37, 0xC0);



aic3104_register_write(43, 0x00);



aic3104_register_write(44, 0x00);



aic3104_register_write(82, 0x80);
////  DAC_L1 is routed to LEFT_LOP/M.


aic3104_register_write(86, 0x8B);
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hello sir,

we are applying two  different single-ended input signals (signal 1 and signal 2)on the same terminal . a input single(signal 1 or signal 2) input terminal to collect and transmit the collected data to the dsp, One of them is not used and can be turned off(adc power down). or two  different single-ended input signals(signal 1 and signal 2) input terminal to collect and transmit the collected data to the dsp. 

we are applying two  different single-ended input signals (signal 1 and signal 2)on the same terminal ,the  input signal (signal 1)to MIC2L->L PGA ->L ADC -> DOUTL and the other input signal (signal 2)to MIC2R->R PGA ->R ADC -> DOUTR. but the test DSP can not receive DOUTR data.

LADC power up. RADC power up.In this way,  Can you describe how DOUT data output?
the  input signal (signal 1)to MIC2L->L PGA ->L ADC -> DOUTL. RADC power down. In this way, the test DSP can receive data.

LADC power up. RADC power down.In this way,  Can you describe how DOUT data output?

the  input signal (signal 2)to MIC2R->R PGA ->R ADC -> DOUTR. LADC power down. In this way, the test DSP can't receive data.

LADC power down. RADC power up.In this way,  Can you describe how DOUT data output?
Why? Do you have any suggestions?
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